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of 10 questions in an examination.
(1 pt.)

1) A student has to answer 7 out
a) How many choices does he have?
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b) How maﬁy choices, if he must answer at least 3 of the first 5 questions? (3 pts.)
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2) Consider n-digit numbers where each digit is one of the 10 integers 0, 1, .. ., 9. How
many such numbers are there for which no consecutive digits are equal? (2 pts.)
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3) LetA,B,andC be three events. Find expressions for the following
a) Only A occurs (1 pt)
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b) At mostone of the events occur (1 pts.)
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c) Atmosttwo of the events occur
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4y Consider 3 urns. Urn A contains 2 white and 4 red balls, urn B contains 8 white and 4 red
balls, and urn C contains 1 white and 3 red balls. If 1 ball is selected from each urn, what

is the probability that the ball chosen from urn A was white given that exactly 2 white
balls were selected? (4 pts.)

B = cunt A wbile billo . £2lld
p= et Ll S Frew A s wh

_ _Plr6)
P(AIB) = 7S

g Y. B«
P(é);%\%—'$+ 7Y e T2 4
sl = i

=t 3671 36
PIAB) = 36

5) You ask your neighbor to water a sickly plant while you are on vacation. Without water it
will die with probability 0.8; with water it will die with probability 0.15. You are 90 %
sure that your neighbor will remember to water the plant.

a) What is the probability that the plant will be alive when you return? (2 pts.)
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b) If the plant is dead upon your return, what is the probability that your neighbor forgot
to water it?. (3 pts.)
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6) Consider two independent tosses of a fair coin. Let A be the event that the first toss
results in heads, let B be the event that the second toss results in heads, and let C be the
event that in both tosses the coin lands on the same side. Show that the events A,B,and C
are pairwise independent, that is A and B are independent, A and C are independent, and
B and C are independent, but the three are not independent. (5 pts.)
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